Warm Up using the figure below to answer the following

questions. Have your homework out and read to check. Quiz
tomorrow!

Classwork - Quiz Review (Constructing Figures)
1) Name a pair of vertical angles.

LA and LD
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A D 2) Name a pair of supplementary angles.
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3) Name a pair of complementary angles.
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2) Wnite and solve unﬁ;uﬂlmn to find the value of x. Find the measurements of the mmsmg angles using x.
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3) Write and solve an equation to find the value of x. Then find the missing angle(s). SHOW WORK
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4) Write and solve an equation to find the value of x using the information given. Then find the missing

angle(s). SHOW WORK
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5) Write and solve an equation to find the value of x. Then find the measurements of the missing angles.
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7) Write and solve an equation to find the value of x. Then find the measurement of the missing angles. SHOW
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) Find the value of x and n.
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